
 

Foyer 800 GA 

Référence: 928375 

 

 

XD – 11/04/2018              page 4/9 

 
 
 

 1 

 2 

 3 

 4 

 5 

 6 

 7 

 8 

 9 

 10 

 11 

 12 

 13 

 14 

 15 

 16 

 17 

 18 

 19 

 20 

 21 

 22 

 23 

 24 

 25 

 26 

 27 

 28 

 29 

 30 

 31 

 32 

 33 

 34 

 35 

 36 

 37 

 38 

 39 

 40 

 41 

 42 

 43 

 18 

www.pieces-de-poele.com



 

Foyer 800 GA 

Référence: 928375 

 

 

XD – 11/04/2018              page 5/9 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Rep Nbr Désignation Référence 

1 1 AXE EXENTRIQUE AS700253 

2 1 AXE VOLET AS700300 

3 1 TIGE EQUERRE VOLET AS800220 

4 1 VIS LOQUET AS800251 

5 4 TIRANT AS800276 

6 1 OBTURATEUR AT700160 

7 1 REGISTRE AT700356 

8 1 TIROIR CENDRIER AT800312 

9 2 PRESSE-VERRE AT800314 

10 1 BOUTON 11340N AV1113401 

11 4 RONDELLE M M05 BRUT AV4100050 

12 1 RONDELLE M M06 BRUT AV4100060 

13 2 RONDELLE M M10 BRUT AV4100100 

14 2 RONDELLE L M06 BRUT AV4110060 

15 2 RONDELLE CAR 6x25 AV4216250 

16 2 GOUPILLE CANNELEE 6x50 AV6306500 

17 1 GOUPILLE 3x15 AV6313150 

18 5 ECROU M5 AV7100050 

19 3 ECROU M6 AV7100060 

20 1 ECROU BAS M6 AV7130060 

21 2 ECROU EMBASE M6 AV7220060 

22 10 ECROU EMBASE M8 AV7220080 

23 1 VIS TH 5X25 AV8405250 

24 2 VIS TH 6x16 AV8406160 

25 1 VIS TH 6x30 AV8416300 

26 2 VIS TFHC 6x35 AV8636350 

27 2 VIS TFHC 8x30 AV8638300 

28 2 VIS TFHC 8x40 AV8638400 

29 1 VITRE 800GA AX126283 

30 1 VOLET BUSE F670651B 

31 1 COLLECTEUR F670712B-A 

32 1 LOQUET F670880B 

33 1 FACADE F680135B-B 

34 3 GRILLE FOYERE F680136B-B 

35 1 SOCLE-RAC F680137B 

36 

 
1 AVALOIR F680145B 

37 1 CHENET INVICTA F680202B 

38 1 FOND F680203B-A 

39 1 TAQUE F680204B-A 

40 1 DEFLECTEUR F680205B-A 

41 1 PORTE-800-GA F680297B 

42 

 

2 COTE F680327B-B 

43 1 FACADE CENDRIER F680306B 

www.pieces-de-poele.com




